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1)Only(A)and(B) - 2)Only (A) and (C)
3)Only (C) and (A) 4)Only (C) and (B)
5) Either (C) and (A) or (C) and (B) C

9. The Central Government’s plans to ( )
() despite the fact that the opposition
parties’ united front had mobilised support of general
public at the outskirts of Mumbai.
(A)defy the curfew imposed to prevent the proposed

rally from protesting against the hike in petrol prices
(B) curb the raily called for by the opposition succeeded
due to ruling party’sannouncement to

(C) cancel alt the trains entering Mumbai,
1) Only (A) and (B) 2) Only (B) and (A)
3) Only (B) and (C) - 4)Only (A) and (C)
5) Either (B) and{(C) or (A) and (C)

97. The economic gloom was exacerbated yesterday by
Greek Prime Minister’s surprise announcement
( )
torturously conceived package in ]eopardy
(A)that was struck last week

(B) that he would recommend the Parliament to strike

down the obnoxious deal
(C) that his country would hold a referendum on the
- European debt deal -

1) Only (C)and (A) -

2) Only (B) and (A)

3)Only (A)and(C) : -

-4) Either (C) and (A) or (B) and (A)

5) None of these e
98, The world’s most powerful nations were wamed

A ) ( ) and trigger mass social

Janrest.

A) that could cost millions of jobs around the globe

(B) that international economy was on the bnnk ofa

deep new economic crisis
() that the only solution was pumping a huge amount
* of money in'the 'economy .

1)Only(C)and(A) * 2)Only(B)and(A) -

3)Only (B) and (C) 4) Only (C)and (B)‘-

5) None of these :

Directions (Q. 99-103); Wllichofthe phrases 1), 2),
3) and 4) given below should replace the phrase given in

~ bold in the following sentence to make the sentence
meaningful and grammatically correct? If the sentence is

oon'ectasiﬁsandnocoﬁ*ecﬁonisreqmred markS)as

the answer. )

99. Innovators create products which is an outgrowmg of
what they imagine, ttnngsthathelpthemcmateaworld
they would like to live in.

1) what is'an outgmwmg of what has bwn imagined
2) which are an outgrowth of what they lmagme

3) which are outgrowing what they i imagine - °

4) which outgrew their imagination =~ -

5) No correction required

), and vote might put the

100. The product-driven organisation has the product as the

most important element in.everything it does.

1) does everything to have the product’s most important
element

2) does the most important things to have all elements of
importance in its products

3) had. the product as the most important element in
everything they do

4) keeps the most important element i in every product
they do

5) No correction required

101. He had alwayshaveaﬁlllmmremthamﬁwk

of a successful leader—determination.

1) did always do a full measure of a trait

2) had always did have a full measure of a trait

3) had always have a fully measured traits

4) has always had a full measure of a trait

5)No correction required .

" 102 Most of the people were dumbfounded and obvmusly

unoomfortable by the perfomance that wis cxpected of
them.
1) with the performance that they were expectmg ,
2) by the performance that they were expected with

" 3) with the performance that was expected of them
4) at the performance which had expectations of them
5) No correction required

103. If he considered you to be a bright, capable and made

contribution to his proposed praject, he would listen to

yourcriticising him.

1) are bright, capable and had made contribution to

2) to be bright, capable and making contribution to

3) to be bright, capable and had been contributed for

 4) would have béén bright, capable and contributing with

5) No correction required

Directions (Q. 104-110): In the following passage, there
are blanks, each of which has been numbered. These numbers
are printed below the passage and against éach, five words
aresuggested, one of which fits the blank approprudy Find
out the appropriate woid in each case.

‘With fairy Tights up in shopping centres and crackers on
offer in supermarkets, Britdin is alreadly (104) up for Christmas.
In this tdugh economic climate, many retailers are hoplﬂg the
festive seasoni will be a chance for the public to 108 their
financial difficulties. And, for some companies, ﬂfe iﬁﬂﬂ&ls of
Britons now struggling to make ends meet are ah eu‘ly
Christmas present.

" As banks stop lending and (106) eats away- at the pay
packets of those lucky enough to stilt be in woik, thie past year
has seen an (107) in high-cost credit lending in the UK. Payday
loan companies and hire purchase stores now (108) town
centres around Britain, offering astronomical interest rates on
loans to those who have few other options to (108 their
outgoings. Last year, the payday loan sector was worth £1.7
bn, a fivefold increase in the past few years. The pace of
expansion is (110) too. Between April and May this year alone,
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there was 4 58 per cent rise.in the number of people applying
for a payday loan via moneysupermarket.com.

104. 1) paying 2)sweeping ) fuming
4) gearing 5)giving
105, 1)overcome  2) forget 3) sustain
4) endure 5) minimise
106. 1) interest 2)taxing 3)inflation
4) spending 5 expenditure
107, 1) explosion 2 invasion 3) exploitation
d)epidemic  5) abstination
108, 1) open 2) escalate 3) enshrine
4) cater 5) dominate
109. 1) check 2) reduce 3) liberate
) cover 5) enhance
110, 1) accelerating ~ 2) sharpening  3) regulating
4) falling 5) evolving
Test-II1: Quantitative Aptitude
Directions (Q. 111-115): What will come in place of
question mark (?) in the following questions?
111 [(3024 = 189112 + (684 + 19| = (7 +459
1y-27 2)-29 Hn
4841 5) 1063
112 4.4 times % of W% of 216="
nele 2837 3813
4891 5) None of these
13, (0.0729+0.17 (0,081 x 107 x (03 % 3 = (0.9)'**
Nt 22 34
97 5) None of these
114, (7% of /1764 x5)=149.8-112
1) 418 2)18 334
H4 5) None of these
105 (276 +9+(TY + 1 ={y'-431
nil 2)(13p 13
H{11p 5) None of these

Directions (. 116-120): In the following questions, three
equations mumbered L, Il and 11 are given. You have tosolve

IW&MW«-W.HMW-

or by any other method and give answer
Difxgy=z
2ifxsy<z
Nifx<y>z
§ ifx=y>z
5 ih;;ﬁ::rifmnflhuhwndaﬁmlﬁpsmhe
established.
1161 Ta+6y+dz=112
IL dx+5y+3z=83
ML 9x+2y+2=T8
17.L Tx+by=110
IL 4x+3y=59
Mx+z=13

8.1 x= 362 x01296)"]

H y+3z=11

HL 6y +52=T1
9.1 Sx+Ty=135

L Sx+6y=%9

IL 9y+8z2=121
120.L (x+y)'=1331

L x-y+z=0

HL xy=28

Directions (Q. 121-125): What will come in place of
mmmhhmmm
121,17 19 33 (1% 7

164 973 367
4§72 5) None of these

12235 256 451 620 763 (M
1)680 2)893 3)633
4) 880 5) Mone of these

173 18 139 868 917 (T) 1061
11042 2)1036 3)942
4,996 5) None of these

124, 2890 (7) 1162 874 T30 658
1) 1684 21738 N1TE4
4) 1672 5) None of these

125. 14 1004 1202 12515 1268 (T)
112675 21127625 31345
4)1367.25 5) None of these

Directions (Q. 126-130): Study the following
information carefully to answer the questions that follow:

There are two trains, Train A and Train B. Both trains
have four different types of coaches, viz General, Sleeper,
First Class and AC. In Train A, there are total 700 passengers.
Train B has thirty per cent more passengers than Train A.
Twenty per cent of the passengers of Train A are in General
Coach. One-fourth of the total number of passengers of Train
A are in AC coach, Twentythree per cent of the passengers
of Train A are in Sleeper Coach. Remaining passengers of
Train A are in First Class Coach. The total number of
passengers in AC Coach in both the trains together is 480.
Thirty per cent of the number of passengers of Train B are in
Sleeper Coach. Ten per cent of the total passengess of Train
B are in First Class Coach. The remaining passengers of Train
B are in General Coach.
126, What is the ratio of the sumber of passengers in First

Class Coach of Train A to the number of passengers in

Skeeper Coach of Train B?

1)13:7 713

33w 4) Data Inadequate
5) None of these

127. What is the total number of passengers in the General
Coach of Train A and the AC Coach of Train B together?

1)449 2)459
3)435 4)445
5) None of these

10 |



RBI Grade ‘B’ Officer’s Exam 2011- Question Paper

JAGRAN

£ Josh

128. What is the difference between the number of passengers
in the AC Coach of Train A and the total number of
passengers in Sleeper and First Class Coach thgefher of
TrainB?

1199 178 s
4H179 5) Nooe of these

129, The total number of passengers in Genéral Coaches of
both the trains together is approximately what percentage
of the total number of passengers in Train B?
1)35 242 a6
4)38 3

130. If the cost per ticker of First Class coach is 2450; what
will be the total amount genersted from First Class Coach

of Train A?
DTLO00BD  2)%1,08,000 3)T1,00,800
4)%10,800 5) None of these
Directions (Q: 131-135): Study the radar-graph
carefully and answer the questions that follow,
Monthly salary (in thousands) of five different

Arvind Foe
131, What is the average of the monthly salary of Sumit in
the year 2008, Anil in the year 2009 and Jyoti in the year

2107
1)%20,000 2)%25,000 3)745.000
4TUS00  5) Noe of these

132 The total monthly salary of Arvind in all years together

is what per cent of the total moathly salary of all the five
persons together in the year 20087

1)55% 2)t 3)75%
470% 5) Nooe of these
133. Among the five persons, whose eaming per month over
all the years together is the second, lowest?
1) Sumit 2) Anil 3) Jyoti
4) Arvind §) Poonam

134. What is the per cent decrease in the monthly salary of
Poonam in the year 2009 as compared to her monthly

salary in the previous year?
1)40% 2)i0% 3 20%
4)80% 5) None of these

138, Jyoti's monthily salary in the yea# 2010 was increased
by 30 per cent what would her monthly saldry be in that
year?
1)T36,000 2y ¥30,000
4)T42,000 5) None of these
Directibas (Q. 136-140): Study the table carefully to

answer the questions thiat follow.

Number 6f animals in grassiands of four different
countries in five different years

345,000

Yeur | Souk Afrs
Tigee] Liot | Bear]
1 145] 156] 250
1995] 134 165] 754
kv
285

2000] 120] 135
2005] 110 is4
2010] 160] 224 364

grassland of Sri-Lanka over.all the years together 7
1)386 . 2)389.4 3)369.- 4276 - 5) Nome of these
lﬂ.mammm&mmm‘ﬁm

anq bears in the grassland of England in the year 2005
and the number of tigers in the grassland of South Africa

in the year 19957

1597  2)558 3)6TT 4668 5) Nooe of these
138. The total aumber of animals together in the grassland of

China in the year 1990 is approximately what per cent of

the total number of bears in the grassland of Sri Lanka

oner all the years topether?

LM% 2)5%6% 41% §H471%  551%
138, If 35 per cent,of the total number of animgls in the

graspland of China jn. the year 2010.died due to an

epidemic, how many animals remained in the grassland

of China in the year 20107

976 2)952 3)986 4)9%2  5) Nooe of these
140. What is three-fourths of the total number of liops.in the

Mdmmmmmww

DBE 2868 383 4984  5) NossoFthes

Test-IV: Reasoning Ability

Directions (). 141-148): Study the following fermation
carefully and answer the given questions,

Eight. family members, viz A, B, C, D, iF.(d and H are
sitting around a circular table, facing the jcentre but not
necessarily in the same order.

* F, the wife of D, is sitting third to the pight of C.

* Aig the,som of H. As sitting second o the Jefy of D.

D is an immediate neighbour af neither F nor C. No
male is,an immediate geighboue of D.

* Gisits second to the Jeft of D's son. Only two persons
sit between H and.A's brother. Neither C nor D is the
brother of A,

* D’s son and the wife of D's s0n are immediate
neighbours of each other.

11 |
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* Fis the mother of H and is-an immediate neighboer of 150. What is the code fior ‘ready’?
neither B nor G 1yred 2) indigo 3) green
* Gisthe sister of E. ) grey ) Cannot be detormined
141, Who among the following is D's son? 151. What does “silver’ stand for?
E G A 1) safety 2)own 3) hidden
4B 5) Cannot be determined 4) for 5) Either ‘own'or “for’
142. Who sits second to the left of G? 152 “black pink yellow’ could be a code for which of the
1) Ksbrother  2)G'smother  3)D following?
4) B's father 5) A's aunt 1) town under attack 2) hidden for safety
mmmmmmaﬂmw 3) attack in town 4) my own town
1)None 2)Ome™ 3)Two  4)Three 5)Four 5) risk in town
144, Who among the following sits exactly between H and F? 153, What is the code for "attack’?
)Dswife 2)Dsson  3C 4B 5A 1) grey 2)indigp 3) white
145, Who among the following is the brofhér of A? 4) violet ) blue
NE 3G 3A 4B 5)Cannotbe determined 154, Which-of the following may represent ‘all hidden
146, Based on the given arrangement, bow is A related 10 D? weapens'?
1)Grandfather  2)Son  3) Grandson 1) wehdte: red orangs 2) brown grey red
4) Daughter-in-law 5) Cannot be determined 3)indigowhitered  4)red violet white
147. Four of the following five are alike in a certain way based 5) orange brown red

on the given arrangement and so form & group. Which is
the one that does not belong to that group?
e nc HH HG BF

148, Which of the following statements regarding H is
defintely comect?
1YHis a male.
2) H is the cousin of C.
3) Both the immediste neighbours of H are males.
'4) His the dsughter-in-law of D.
5) His the father of A.

149, MHMMWMNWII::
question which follows.
A recent report points to the fact that what stands
between girls in village Regari and a good education is
the lack of transport ¢ and from the oy school in the
rea,
Whinhcthﬁﬂnmn:mhhﬁmﬂ&umﬂnpm
statement 7.
Mnmﬁmumcﬂﬂnguﬁwlrumdwﬂymd
but can be inferred from the given facts.)
1) Everyone Iivin: in Regari fIBH problems in

comméting.

am:mﬂmmmummmmm
+ Tl in other villages in India. '

%) The report has shown Regari inerPoorlight. -

4 mmolmhgmuml‘ﬂﬂﬂhu:dﬂwﬁm

the village.
ﬂThtmhuhcknfhﬂuhhsbnhmh;n

Regatl’
mmmmhmm
to answer the ghves questions: ’

In & certain code, ‘weapons hidden in town’ is written as
“white black yellow red", ‘ready weapons for attack” is written
& ‘grey indigo red green’, “hidden for own safety’ is writien

2s ‘silver grey violet white" and ‘own town under attack” is
written as ‘violet blue indigo black”.

155. What is the code for ‘own'?
1)silver 2)blue " 3)indigo 4)violet 5)black
Directions (. 156-168) Each of the questions below

conslsts of 2 question and two statements mmbered [and 11

given below It. You have fo decide whether the data provided

n the statements are sufficesit to answer the question. Read

Dboth the statements and give mhswer
)] if the data in stafement | alone are sufficient to answer

the question, while the data in statement II alone are
not sufficient 10 angwer the question.

) if the data in statement [F alone are sufficient to answer
meqmmﬁhdnhmmlﬂmm
not sufficient to answer the question.

3) if the data cither in stalement 1 alone or in statement [T
alone are safficient to answer the question.

4) Eﬂwdﬂhnﬂﬁunﬂm&l:wnmmfﬁmtm
answer the

9 if the data in both the statements [ and [T together are
Hecessary to answer the question.

15. Among P, Q. R, § and T; sitting in a straight line, facing
North, who sits éxsctly i the middle of the line?

(T P sits third to the leftof 3. T is an immediate neighbour
of Pas well as JL

() T sits second o/ the the left of S. Qis not an immediate
neighbour of glther T or S.

157. Among five friends A, B, C, D and E, siting around a
circular table, facing the centre, who sits on the immediate
right of A?

() E sits third to Te right of D. A is not an immediate
neighbour of 0.

(I C sits second to the left of B. A is not an immediate

~ neighbour of C.

{38 Who among P, @; R, S and T is the tallest?

m P is taller than §'and T hat shorter than R. Q is taller
than §.

(IN) T is talller than 5. P is not the tallest.
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159. Is ‘EAST the word formed after performing the fellowing
operations on a word containing these four letters?
(D There is only one lemrbctweenAandT Eisto the
leftof A. 4
(I) The word does not begin with T. There is only one
letter between E and . T is not an immediate
neighbour of E. -+ :
160.Is C the grandmother of M?
(D Cis the mother of D. D is the brother of M’s father.
(ll) E is the mother of S. § is the sister of M. F, the aunt of
S, is the only daughter of C.
Directions (Q. 161-166); In each question below are

* given twoithree statements followed by two conclusions

numbered I and IL. You have to take the two/three given
statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given
conclusions legically follows from the given statements
disregarding commonly known facts.
1) if only conclusion I follows.
2)if only conclusion II follows.
3) if either conclusion I or conclusion If follows.
4) if neither conclusion I nor conclusion II follows.
5) if both conclusions E and II follow.
Directions (Q. 161-162): . .
Statements: Some colouts are paints.
" All colours are varnishes.
No varnish s a dye.
161. Conclusions: ‘L :No paint is a dye.
I All paints being varnishes is a

.. possibility.
162. Conclusions: I Some varnishes are paints.
IL No dye is a colour. :
(163-164):
Statements: Al squares are iriangles.
No triangle is a circle.
All circles are rectangles.

163 Conclusions: L No rectangle is a square.
IE All rectangles being squares is a
possibility.
164. Conchlswns' L No square is a circle.
IL At least some circles are squares.
165. Statements: No paper is a book.
Some books are libraties.
Conclusions: L All libraries beifig books is -a
‘ possibility.
T B No library is a paper.
166. Statements:  All hills are moutitains.
All mountains afe rocks.
Conclusions: L All those rocks which 4re mountains
' . arealso hills.
I All hills are rocks .
Directions (Q. 167-173): Study the following
information to answer the given questions. .
Eight people, vizA, B,C, D, E, F, G and H are sitting in a
straight line facing North. Each of them has passed a

recruitment éxam and must join the office in different months,
viz January, Februsry, March, April, May, June, July and

August but not.necessarily in the same order.
* G sits third to the right of the person who joins in
May. The person who joinis in August sits second to

the right of G A and E are immediate neighbours of

cach other. Neither A nor E has joining dates in either
May or August. Neither A nor E is an immediate
neighbour of G
* - Hsits third to the right of the person whose joining
date is in January. Neither A nor E has joining dates in
< January. H’s joining date is not in August.
4 Only two people sit between E and the person whose
joining date is in July. The person whose joining date
.. is in February sits on the immediate left of D.
* Only one person sits between E and B. C joins before
July. E joins after April. G joins after A.
167. In which of the following months does H join the office?
DApil 2) June -
3)July 4) Febuary
5March . - ’

168. Who among the following sits exactly between E and B? .

1) The person whose joining date is in May .
2) The person whose joining date is in Januaty -
3)D
HA
5) The person whose joining date is in August

169. ‘H’ is related to “July’ in.a certain. way based on the
above arrangement. ‘B’ is relgted to ‘June’ following the
same patern.’,__’ is related to ‘May followmgthz same
pattern.
IF 2G - A
4D - 5C

170. Which of the following is true regarding D?
1) Only two people sit to te left of D.
) Dnssxmngmondtoﬁnengmofthepmonwhose

joining date is in July.
3) B and B are immiediste neighbours of D.
4) D’s joining date is in May.
$) None Is true
171. Who aimong the following has joining & in June?
HF . 2E 3G
4D 5C
172. How thsny people sit between C ﬂdwm
joining date {5 in April?
- 1)None 2)One 3)'1‘“
#) Three 5) Four

173s Whomongthefﬂllowmgmmmng st ondd of
the line?
1) A and the person whqscj,oxmng MmhAugust
2) The person whose joitiisg date is in May and E
3 CandG
4) The persotts whose joining dates are in Match and

June v

5) None of these

13 |
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Directions (Q. 174-178): In these questions, relationship
between different elements is shown in the statements. The
statements are followed by two conclusions. Give answer

1) if only conclusion L is true.

2) if only conclusion II is true.

3) if either conclusion I or ITis true.

- 4)if neither conclusion I nor I is true.

5)if both conclusions I and II are true.

174, Statements: N<O2R>T, R<A; B<T

Conclusions: LN<A ILB<A
175. Statements: €2D=E<F;, Y<D2W

Conclusions: LC2Y ILF>Y
(176-177):

Statements: S <T<U2W; T<R; G>U
176. Conclusions: LS<G ILW<R
177. Conclusions: LR2>S OW<G-

" 178. Statements: H>G<I; FSG>Z

Conclusions: LF<H I.Z<1
Directions (Q. 179-180): Study the following information
and answer the given questions.

In a certain way, ‘PROJECT’ is related to ‘CEOPRT’,
‘PLANE’ is related to ‘ELNP’ and ‘WIN’ is related to ‘NW".
179. Following the same pattern, ‘ORGANISED’ wil be related

to

1)ADEGOIRS 2)ADEGIOSR
3) ADEGIORS 4)ADEGBORS
5) Cannot be determined

180, Following the same pattern, ‘DISTANCE will be related

to . .

1)ACDEINST ~ 2)ACDEINS 3)ACDINST -

4)ACDNSTI  5) Cannot be determined

Directions (Q. 181-183): Read the following information
carefully and answer the questions which follow.

P,Q,R, S, Tand V live on different floors of the same
building having six floors numbered one to six (the ground
floor is numbered 1, the floor above it is numbered 2, and so
on, and the topmost floor is numbered 6).

There are two floors between the floors on which Q and

Vlive. Q lives on a floor below V’s floor. Neither Pnor Tlives

on a floor immediately above or immediately below the floor
on which Q lives. P does not live on an odd-numbered floor.
There is only one floor between the floors on which S and T
live. T does not live on a floor immediately above or

" immediately below the ﬂoor on whichi R lives.

181. On which of the follqwmg floors does V live?
1) 4th 2)3rd 3) 6th
4)5th 5) Canriot be determined
182. Who amorig the following lives on the topmost floor, ie
floor number 67. . {
HT Z)S
4)pP 5)Either Vor P
183. How many floors are there between the floors on which
Rand T live?
1) None 2) One 3)Two
4) Three 5) Four

IR

Directions (Q. 184-185): Four of the following five are
alike in a certain way and hence form a group. Which s the
one that does not belong to that group?

184. 1) Compare 2) Conflict 3) Distinguish
4) Contrast 5) Differentiate

185. 1) Recollect 2) Retrieve 3) Regain
4)Recall 5)Realise

Directions (Q. 186-190): Study the following
information carefully and answer the given questions.

A word and number arrangement machine when given
an input line of words and numbers rearranges them following
a particular rule. The following is an illustration of input and
rearrangement. (All the numbers are two-digit numbers.)

Input: gate 20 86 just not 71 for 67 38 bake sun 55

Step 1. bake gate 20 just not 71 for 67 38 sun 55 86

Step I for bake gate 20 just not 67 38 sun 558671

Step 1. gate for bake 20 just not 38 sun 5586 71 67

Step IV. just gate for bake 20 not 38 sun 86 71 67 55

StepV. not just gate for bake 20 sun 86 71 67 55 38

Step VL. sun not just gate for bake 8671 67 55 38 20

And Step VI is the last step of the above input.

As per the rules followed in the above steps, find out in
each of the following questions the appropriate step for the
given input.

Input: 31 rise gem 1592 47 aim big 25 does 56 not 8563 with

moon
186. How many steps will be required to complete the
rearrangement?
1) Eight 2)Six
4)Five 5) None of these
187. Which word/number would be at 7th position from the
leftin step IV? ‘
Dise  2)am  3)big 415 5)47
188. Which step nurber is the following output?
rise not moon gem does big aim 15 with 92 85 63 564731
5

3) Seven

1)StepV 2) Step VII 3)StepIV
4) Step VI 5) There is no such step.

. 189. Which of the fo]lowing represents the position of ‘92" in
step VI?
1) Ninth from the left 2) Fifth from the right
3) Sixth from the right 4) Ninth from the right
5) Seventh from the left

190, Which word/number would be at 5th position from the

right in the last step?

Dgem  2)63 3)56 4)85 5) does

191, Read the following statement and answer the question

which follows.

A massive agitation is brewing in State X against the
‘ proposcd widening of the national highway.

Which of the following represents an assumption implicit
in the given statement? (An assumption is something

that is not directly stated but is supposed or taken for

granted.)
1) The agitation is carried out by local villagers who
would be worst affected by widening of the highway.

14 |
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2) Many other states have much wider highways as
compared to State X.
3) A national highway already exists in State X.
4) Commuters are greatly inconvenienced due to
frequent accidents owing to the narrow highway.
5) For aroad to be declared a highway, a certain width is
essential. ,
Directions (Q. 192-195): Read the following information
and the five statements given below it carefully and answer
the questions which follow.”

Steve Jobs himself said it: “It’s smart to take an existing

idea and enhance it beautifully.” Apple did it and so did some
of the most successful brands worldwide. To be successful,
it is not essential to innovate every time. Old stuff in new
packaging helps as well and is often referred to as ‘imovation’
which is a combination of innovation and imitation.

(A) As an innovation is a standalone product in the
market, it reaps in all the profit till the ‘innovators’
imitate it. ‘Tmovation’, however, is not profitable as
there are many imitated products in the market at the
same time, all reducing each other’s profits.

(B) Brand X duplicated Brand Y’s mobile phones with
exactly the same features and same price range but

~ failed to make an impact in the market. ‘

(O No one remembers the innovators after some time
because they did not turn their idea into success.
On the other hands, the imitators did what they had
to just at the right time.

(D) While Sanfy invented portable MP3 players, it was
Apple which enabled MP3 players to play videos
and games at a fairly reasonable prloe thus capturing
the market.

(E) ‘Imovation’ is a lot less risky business venture. An
imitator is already equipped with the analysis of how
market received the innovation. .

192. ‘Blind imitation of a product can never be successful
and sustainable.

- Which of the statements (A), (B), (C), (D) and (E)
mentioned. above proves the above statement most
appropriately?

DD 2B  3C  4E 5)BothAandC '

193. Which of the statements (A), (B), (C), (D) and (E)
mentioned above represents an’ advantagc of nmtatmg

an existing product? .

1)B 2) Both BandD

3)E -4)BothC and B.

5)BothAand D~

194, Which of the statements (A) (B), (C), (D) and (E)

mentioned above would contradict the fact that imitation

of products is a successful market strategy?
DA '2C 3D 4HE - 5)BothBandE
195. Companies must add such values to their imitated

products that not only distinguish their imitation but

also add to customier satisfaction.
Which of the statements numbered (A), (B), (C) (D) and

(E) mentioned above proves the above statement most

appropriately?

DA. ~ 2)BothAandB  3)BothAandE

4)BothAandC 5)BothBandD

Directions (Q. 196): Read the following statement and
answer the question that follows.

“The first ever low-cost tablet with a three-hour battery
which works only with Wi-Fi for accessing the Internet will
be a game changer for India’s rural population who have

been on the wrong side of the digital divide in the country.’-—

Stated Comparty X, the manufacturers of the tablet on their
role in providing access to Internet throughout India.
Which of the following can be assumed/inferred from
the given statement? (An assumption is something that is
not directly stated but is supposed or taken for granted and
an inference is something which is not directly stated but
can be inferred from the given facts.) ‘
1) Wi-Fi connections are already available in rural parts
of India. )
2) Other tablets did not have the features such as Wi-Fi
connectivity. )
3) Improvement in accessibility to Internet would help
education sector the most.
4) A mere three-hour battery would be grossly
insufficient to maximise its benefits.
5) The tablet would not benefit urban population in India
as much as the rural population.

Directions (Q. 197-198): Read thefollowing information

carefully and answer the questions which follow.
- » Sudha weighs more than Bharat and Abhishek.
» Rahul weighs less than only Karan.
* Parul weighs as much as Sudha but less than Dana.
. *Abhishek does not weigh the minimum.
197. Who-among the following is the third heaviest?
‘1)Karan * 2)Rahul 3) Bharat
4)Dana 5) Cannot be determined
198. Which of the following is true?
1) Only four people are heavier than Rahul.
2) Bharat weighs more than Parul:
3) No one weighs less than Bharat.
4) Only two people are heavier than Karan.
5) All are true

199. Read the following information. careﬁllly and answer the

question which follows. " - /v

Ais the brother of B. B is the sister of T. Tis the mother
_of PIf it is provided that R is-the grandfather of P, how

would T be related to R?5, .+~

1) Daughter - 2) Granddaughter ~ 3) Sister

4) Wife 5) Either Daughter or Daughter-in-law

200 Which of the following symbols should replace question

- mark' in the given expression in order to make the

" expression ‘D <K’ definitely true but ‘M > I definitely

wrong?

. 1<J<K?M2N=0

< 2)< 3)= 4)> 5)2
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